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Reg. No.

V Semester B.Com./B.Com. Tourism/B.Com. LSCM Degree Examination,

March/April - 2022
COMMERCE
International Financial Reporting Standards
(CBCS Scheme 2016-17 and Onwards Repeaters)
Paper : 5.2

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

Answers should be written completely either in English or in Kannada.

SECTION - A
IS

/’SQZ?" e
Answer any Five sub-questions -questlon carries Two marks. (5%x2=10)
SRRTOTTR VT VT T, 2371@7? GVSB0R. &,

1. a)

b)

c)

d)

g

%5 1% 0@ e08rRd.
Mention any two IFRS issued by IA

JASB 2e83= o3nerende »8R@ IFRS & eme;,eabﬁo.
What is revenue from contracts from customer ?
M, WHOTNPOT LT STIOD QOTTE 2
What do you mean by statement of financial position ?
BS3F T aéaw T, OBF Qe8.
Give the meaning of parent company.
TPERT FOTIOD &TPF QeR.
What is meant by operating segments ?
FOOINEFWETBOI PoNnG LIBE YA
What is good will ?
OB NS* (éeéraﬁa@é) DOTITEI ?
What are contingent assets ?
@8 FBNT Q0TI ?
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SECTION - B
TN - W
Answer any THREE questions. Each question carries Six Marks. (3x6=18)

OIRRYTITTR WD T, vR ev3oR. =38 TyJ e &) 03N,
What are the advantages of convergence ?

W BT VRBRONTI)  SPR.

How do you calculate basic EPS ?

e EPS S, @ert eff%md TREOND 7
Z Ltd. installing a new plant has incurred the following cost:

Cost of Plant (cost per suppliers invoice plus taxes) Rs.10,50,000 , Initial delivery
and handling cost Rs.50,000 , cost of site preparation Rs.50,000. Consultant need
for advice on acquisition of the plant Rs.65,000 , interest charges paid to
suppliers of the plant for deferred credit Rs.35,000 , estimated dismantling cost
to be incurred after six years Rs.1,00,000 , which of these costs can be

capitalised as part o in accordance with Ind AS 16 ?

Z 1id. e AYFITII, R égb’ 3 3IBNS DY 2, [Ras. ARO[,
(RTWTILOTHTT BT CUSIENSEY) P?ﬁ %8 &) dre. :10,50,000.

BOORT DBOR WD) JIFBEwD dzi : 0, 79’3@ 303532030 52;3; dn.50,000,
PRI InteA d&gj dr.65,000 abaociradegdé% 3,8t ©r.35,000, 6 SIRNY 033 m@ﬁdﬁﬁa
TRV Tod 3030w a%zsg’s 0r.1,00,000 @ Ind A5-16 R e9rdssN &.8.9. o eao::%
tADYatal 53?%35% uocém%}wmq N TOBJSFBWIVT ?

From the following particulars of Sadhu Ltd. as on 31st March 2018. Prepare a
statement of P&L Account as per schedule III of the Companies Act.

Particulars Amount (Rs.)
Sales 4,00,000
Employee benefit expenses 30,000
Depreciation & Amortisation expenses 60,000
Tax during the year 20,000
Cost of materials 2,00,000
Purchases of stock in trade 60,000
Other incomes 40,000
Opening stock 1,00,000
Closing stock 50,000
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318 I3 2018 To3, G OWHE'S FINT DF[ONPOT FoTINY  F2OIFALICD
Sewodod @ze0 P/L Alc &) ScdedA.

QRO
BT
NTR N SIOBRONE SYnsd
RS8P R geery SUd
TRFIE, o
IRNG WS
39, T0TY, ROWNT DD
Q3T STTODNTO
300WF R0
30830 AT
6. S Co., acquired the whole of

362 (39.)
4,00,000
30,000
60,000
20,000
2,00,000
60,000
40,000
1,00,000
50,000

sheets as on 31st March 2018 we 9)llows
Assets H. Ltd.
Sundry assets 86 000”?}' 80,000
Investments : Shares in H Ltd. 54,000 --
1,40,000 80,000
Equity & Liabilities : S. Ltd. H. Ltd.
Share capital
Share of Rs.10 each 1,00,000 60,000
General Reserve 20,000 10,000
P&IL. Account 10,000 5,000
Sundry Creditors 10,000 5,000
1.40.000 80.000

From the above B/S Calculate capital reserve.

es in H Co., on Ist April 2017. Their balance

[P.T.O.
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S 80z 1/4/2017 T H 30mR0D 3econox) mPes SRrdroRD. & 31/3/2018 o3
0w TET IPNT0ST. WOBTYE IO, FORHBOWD.

RBI N S. oodE H. ooodde*
2R, IZoNed 86,000 80,000
BRE8NH:H OGS Seonsd 54,000 -
1,40,000 80,000
BRBMOENL0: S. Ltd. H. Ltd.
YL TI) BERMOIW
Redd woRTY T0.103,8 Heork 1,00,000 60,000
AR, Q0D 20,000 10,000
P/L Alc 10,000 5,000
933 JOTTD 10,000 5,000

X55) @% 1.40.000 80.000
SE %-C
TR - ,(P
Answer any THREE questions. Each question carries Fourteen marks.  (3x14=42)
O3RRTTTR TR T,3Nen ¢UZ0R. T,3 T,ZN6 14 OB,

7. a) Explain the disclosure requirements of related party. Disclosure as per Ind
AS-24.

Ind AS-24 T =50 AOWOTTES, 2&TON TRIAXVFAD L&TON TERWS 5333, 33NIY,
QTOA.

b) Define interim period as per Ind AS-34. Mention the minimum contents of an
Interim Financial Report Ind AS-34.

Ind AS-34 © TmT =g 030 SHEODI) TRV WB) WG08T  HEDFORO
SOONY 8T O/ODNTTY, evefesda.

8. »a)‘ ‘ Discpss* the various advantages of IFRS.
IFRS 3 985 D cleensnesy wiirA.
b) List out any teh IAS issued by IASB.
IASB ¢80 cineydie %) IAS nivs) @, Sna.
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Calculate the borrowing cost of Somnath Co.,

(a) Project cost Rs.10 crores, 4 crores is financed by 7% debentures repayable

b)
)
)

in 5 years & balance 6 crores from IDBI loan @ 9% p.a. interest
repayable in 5 years.

The cost of issue of debentures is Rs.4 lakhs.
The service & consultancy charges for IDBI is Rs.4 lakhs.

Debentures repayable at 5% premium.

SAM Ltd. has a carrying value of 8 lakhs. An important review shows that the
recoverable amount is 4.4 lakhs & that the intangible assets have a net realisable
value of 80,000. The assets making up of SAM Ltd., is as follows:

Good will 1,20,000
Intangible Assets 2,00,000
Tangible Asse@ s 4,80,000

o

S
Calculate impairment loss é%how this would be allocated.

RRETDIVNTG FOTIOD NFINY 73&:30:53@ T d0=e =, S592300 IR

(a)

b)

c)
d)

odnezdodd

ézgs dn.10 dnrees, dn. 4 ﬁ:aewmisoq 5 [RFAFY, T ToTERWTOTE 7%
Bdolongd

@02 IDBI moodod 6 dres de. 9% p.a. u@aocboé 5 JIRFNLY,
DOTVTVWSTTOTD.

R323038NnY JeBFTOD ﬁzz on. 4 e:i N3,
IDBI R Qe@edesom Sed BB) AOTD ebe%mﬁo 4 e>§A

5% &,e20030039, ROTOTIBETWIOTE FOTZ, Ned

SAM Ooue 8 of IR IPOBR), Be0DT. BeeHTPOB IR
DDEDERIWITE BRI 4.4 FNHIE. B VIT AN 80,000 T
DY IR BRTI TPY,TI) BROOH 0 IREORITLS.

SAM Ol AN 83 IToBES.

[P.T.O.
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Bedf 63305 1,20,000
233 @3RI 2,00,000
el 30
A X 4,80,000
wed &0
8,00,000

OWFO sawwmq @faémd TRB T3 @ESE&EL Zen mzsmmgd @owacsaoct 30eDA.

‘#. a) From the following trial balance of MN Co. Ltd., as on 31.03.2018, Prepare
- statement of financial position as per Ind AS-1 [Schedule III companies Act of

2013].

Trial Balance
Debit (Rs.) | Credit (Rs.)
Plant, Property & Equipment| 8,00,000 | Equity share capital 5,00,000
Intangible Assets 3,00,000 | Capital Redemption Reserve| 50,000
Current Invest 1,00,000 | Non-Current liabilities 8,00,000
Other non-current a@qy 2,00,000 |P&L Alc 40,000
Inventories A G 0,000 | Current liabilities 6,00,000
Trade receivable 1,
Cash & Cash equivalent 4,00,00
Total 19,90,000 | Total F9,90,000

- b) From the following prepare a statement of profit or loss for the year ended
31.03.2019 as per companies Acf. 2013.

Rs.
Revenue from operations 12,00,000
Salaries & Allowances 1,40,000
Stationery 30,000
Interest on long term loans 50,000
Publicity 80,000
Raw materials consumed 2,20,000 o
. Discount allowed 20,000
Depreciation 20,000
Rent received 80,000
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31.03.2018, 303 @0.0%°. e, WLE'S FSNT WFTHOD o3 ReOIH0S Ind

"AS-1 © &390 TeoBRd ?gpéoda Beod 30310%. (2013 T H@ee* 1 O ol

F00T)
J,deen IO

B 303 |3,8u° 05 |
oy M0 W coEscne> | 8,00,000 | B8 a3y e wommY 5,00,000
Qﬂ?o;e—zi“ :o;&m*o 3,00,000 @zsmscj‘ DBOT' IS ORIE 50:()0{_;;
W0 TRBBTNTO 1,00,000 |38 Remnoddnd 8,00,00¢
Q30 230 BN 2,00,000 |©o/3 &598 40,004
ADIDRSIRY 90,000 |38 QRWMOINL 6,00.00¢
2023508 TOOMITT TED 1,00,000
SN OB 3@4@3:1% 4,00,000
w8, Lo, 1990000 |82 TJ;(H?%

7

31.03.2019 T =3R%08000T
3C3R0A.

on.

G"?q,?y

mzsmdaod WOT 33000
zows R0 z;é’émfo

3e8DT TN, NED

DeFr SR MOT B0edI wB
20T NDF

35, TR WIE

RReB VBT,

RITP

WOBR ST0D

12,00,000
1,40,000
30,000
50,000
80,000
2,20,000
20,000
20,000
80,000

Q)
oﬁ% @3 2013 O BB ooy IF, WeBOWN |

TNes
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11.

a)

®)

b)

Calculate non-controlling interest from the following:
A Ltd. acquired 75% of equity shares in B Ltd. on 1/7/16. The following
balance are extracted from the financial position of B Ltd as on 31/3/2017.
1) Share Capital

40,000 equity shares of Rs.10 each.
2) Balance as on 1/4/2016

General Reserve Rs.1,40,000

Profit & Loss A/c Rs.1,10,000
3) Net profit for the year ending 31/3/2017 Rs.90,000
Calculate cost of control from the following : Hema Ltd., acquired 75% of
equity shares in Shruti Ltd. on 1/10/2014 at 50% premium. The following
balances are extracted from the balance sheet of Shruti Ltd. as on 31/3/2015.
1) Share capital 40,000 equity shares of Rs.10 each.
2) Balance as on 1/4/2014

General Reserve Rs.1,00,000

Profit & Loss A/c Rs.20,000

3) Net profit fofSthe year 2014-15 Rs.1,60,000
BPNSYNPoT D0, RO, STLPT TRB.

A ©. SomRatn 172016 06 /& OR0MaRE, T5% a8y Feonvet, MmPe
ZaMeoad. 31/3/17 003 ‘@ S ©OFE Asnon NS BuQnvRy
BAEHOW. Ry

1) Redd woEme 108R.7¢ 40,000 283 SRecorish.

2)  1/4/2016 Bo3 =, dearied

mmaﬂ QRN 8%».1,40,000
ooy TR ase'&; 593 8».1,10,000
3) 31/3/2017 © esosécs dﬁréﬂ aaégé eyl 38%.90,000

Bedn Ooeie® 1/10/2014 Bomd 50% &,e003038, 3,8 ORI, 75% ReORTIY
mﬁeﬁa‘@%ﬁmo@&. 31/3/2015 003 38 dotE's 239, S, HeEFR0T BONS W, TTY
TBODEONT.

1) Redd wo@mY 40,000 @ Feddrid 10 I3 Fednt

2) 1/4/2014 Tod @z deond

mmaa% SEREN 38n.1,00,000
ooy BB amu Alc 38».20,000
3) 2014-15 © aaf;? (SpIA) 8».1,60,000

QRIO0T D00YHT FURRY, ST ANG.




